MErtEI—F— X=Za21—3k

M t+teEa—IF3— (E5) X85 S 11:30~14:00
& B /4 18 : 00~20 : 30
H:EH4$»H TR o (3APA—H— 20:00)
- i Mo & A
BAFLER - - - - - - - - - 1,050 .
AP TR =« » « = v = = % = = 950 @ NEBTIEA - » » == s = == 650M
Bz 2 A P—=F 8k~ =& 5 &5 7004
LHOENBAFNSHER - - 1,600 BAERIEL - - - 00 s 800F3
RXRFEH/BMSBITERL6M - - - 1,200
» 318 - - - -900M@ BV —&BFHK
BevAhYER - - - - - - - 1,200M BRevAYHL—- - - - - - - 1.200M
B2 ER = = » = = == 950 A UY=L RS » & = = = & == = 600
> — A > AL — -« + s oo e e 3501
iP5 — A2 - = = = = - - - - 650M BiIc¥YH (iBoret) B 118 - - - - 1500
BT AT - s s 850 BFMHEHAL— - - - - o o o o - - 550
LhHhEE»rBFS>5— A2 - - -1,000M BFRNZIN—=T P = 5 « & = 550
LHYErEBFHLES— A2 -1,000M
FEETD = == = 5= x5 = == 600MA H— S i
" FI—A e sm s 400M BRE LAY - - - - e e e e - . 950 A
. - X BHRMSIBF - - - - - - - - - 900 A
NEIBTFEIE - - - - - - - - - 650M T emy s
.. . HA¥x 7254 700M
E33%1E G&-#&) - - - - - 700M 1 W . e o e m e e s s s 4008
BAREE- - - - - - - - - - 800 M AP = mm g o we -
EHBEE= » =% 5 = » 5 = s> 600M . 400
WEYSH- - - - - - = =« - 400M
XEAEH (+100M) £¥kF3 AT ITH (FLRE) - - - -500A

BAEDLYERD eszuze eEHLES
A=a—(22WTIE 55 Z JHERCE X!




